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Show all work for partial credit. Use EXACT answers unless otherwise directed.

V27— x = —-1 + 1,’
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. Solve the polynomial inequality and express the solution set in interval notation.
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3. Solve the inequality and express the solution in interval notation.
7/
" |?’ — x|z %
7-5x =2 V 7-§x4-2
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QAL Find the difference quotient h for the following function.
b
_x+5
Ry = ¥ =8
DR = XthisS ¢ (xh+€) (x-8) = (x48)( X+ h-8)
xih=8 - gl ( x+h-8) (x-8) b
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5. The function f

is one-to-one. Find its inverse and determine the domain awe
-1 vl =vr—4 4
ofboth © and f ~  JFxl=vr—4+3 JV
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6. Ranching. A rancher has 0,000 jinear feet of fencing and wants to enclose a
rectangular field and then divide it into four equal pastures with three internal fences
parallel to one of the rectangular sides. What is the maximum area of each pasture?

¥ X X X

&

Max = XY / 5
«_
Max = X /59,000-8% . 50,000x - 8 x”
K 5 z
Mox = 10,000 x - -%, x \ :
-b ~ 10000 _ 10,000 (5) \

20 2(’%3 2(8)

= 50,000 _ 12500 - 3[2_5/
- =
I “ —
max = 10,000 (3/25) —_f: [3,23’)1 - ISGQSJOOO
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7. Consider the polynomial function

Flx)=x%(x— 2 +3n% =
X- 0,

[ x + ...
2, -3 :

(a) List each real zero, its multiplicity, and determine whether the graph touches or

crosses at each * -intercept (zero).

Zero Multiplicity Touches or
Crosses
x=| -3 || 2 Il YoucheS ]
x= ]L 3 Il tovches ]
x= 7 | 2 IL_crosses ]

(b) Find the ¥ -intercept and a few points on the graph.

Y -intercept = (O:O)

(c) Determine the end behavior of

To the left, the graph
[ falls l

without bound.

To the right, the graph
[ evses
without bound.
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x F (%) ! y (-433 (l)z

-3 (L0 | — asb

-2 |[-256 ] 32

-1 || - 108 | Y= (1) (-"2)3?’*32

o [Co = vy (-3)%(2)
[-1G | ~los .

2 |LO | Y = (D2fi-2)2(1+3)

(0 (-3 (0> = 1l
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(d) Sketch the graph of % |

Make sure you plot each * -intercept, the ¥ -intercept, and any points from part (b)
that appear in the window below. If the same point is both an * -intercept and a 4

-intercept, plot it as an * -intercept.

8. Factor the polynomial as a product of linear factors given that x=3 and x=5/2 are

Zeros.

Y Plx) = 257 — 135 % + 2457 — 34%° + 150% — 225
2 ')3 K4 -39 180 -228 o= o OR%
<8 R ST 21 3 G ous
v s 0 2 T
2 7 3 -25 7 I 2 5§ 0O

Plo)” (X—B)/2x4~7x3+3x2’«-2§x }75)

N
c\2a -7 3 -28 73
15 5.5 ast os
Y it
2 ._2 -2 "'30 O
3 2
D) = (x-3)(x -5 ) (22 25 2% 30)

Plx) = ( ,3)2/2><,S)(/x x4 S)
a=l b=2cs5

x = -2t {2%-ul(s)
2(1)
x - -25{ 4 20




